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13 Study tho olowing lowchart vory carctly.
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(@) Comploto thotraco tblofor tho flowchartusing thofolowing data:

6) Thisflowehart doos not v correct answers or cortain ot of st data.

Suggest adata st thal woukd gio an ncorroc answor.
(Gve a reasan fo your choi

data sot
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12

11 An algorithm has been written to input six temperatures for every day of the year (365 days). The
outputs are:

+ the average daily temperature for each day
« the highest recorded temperature for the whole year

The algorithm is i the form of a flowchart on the next page. However, several of the statements
are missing

Using instruction number only, complete the flowchart using the following lst of instructions:

Instruction Instruction
number
1 average = total /6
2 day =day + 1
3 high = -200
4 high = temperature
5 input temperature
6 is reading <= 6 7
7 is temperature > high ?
8 output average
9 output high
10 reading = reading + 1
1" total = 0
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The algorithm is i the form of a flowchart on the next page. However, several of the statements
are missing

Using instruction number only, complete the flowchart using the following lst of instructions:

Instruction Instruction
number
1 average = total /6
2 day =day + 1
3 high = -200
4 high = temperature
5 input temperature
6 is reading <= 6 7
7 is temperature > high ?
8 output average
9 output high
10 reading = reading + 1
1" total = 0
12 total = total + temperature
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12 A sproadshoot has boon sol up 0 allow a motoris 10 koop a chck on s uolcosts.
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6 Tho folowing psauiocodo agorthm shoud:

+ ioput p 1020 rumbors
+ stopif the sum of the nput umbors oxcoads 50

+ ouput tho firal

Thoro ar five arors n his algorbm,
Locate thesa arors and suggest a corc

comacion
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coacton
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For oxample
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(a) Use he flowchart o encrypt th fllowing massage:

(6) Use the information in the flowchart 1o show which input message produced the folowing

oncryplod mes
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